
Examination: Ph.D. French
Section 1 - Section 1
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Psychologists _______ that having a set of cherished companions is crucial to mental well-being.
 have been known for long
 have long known
 have known long
 have been knowing for long
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Three years ago the average age of A and B was 18 years. If C joins them today, the average
becomes 22 years. How old is C now? 
 26
 28
 32
 24
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Based on the information given answer the following question. 
1. In a family of six persons, there are people from three generations. Each has separate professions
and they like different colours. There are two couples. 
2. Shyam is an Engineer and his wife is not a doctor and she does not like Red colour. 
3. Chartered Accountant likes green colour and his wife is a teacher.
4. Manisha is the mother-in-law of Sunita and she likes orange colour. 
5. Vimal is the grand father of Tarun and tarun is the Principal and likes black colour. 
6. Nyna is the grand daughter of Manisha and she likes blue colour. Nyna's Mother likes white colour.

How many ladies are there in the family?
 3

 2
 Cannot be determined
 4
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Study the following information carefully and answer the question below it

(i) There is a group of five persons- A, B, C, D and E
(ii) One of them is manual scavenger, one is sweeper, one is watchman, one is human scarecrow and
one is grave-digger 
(iii) Three of them – A, C and grave-digger prefer tea to coffee and two of them – B and the watchman
prefer coffee to tea
(iv) The human scarecrow and D and A are friends to one another but two of these prefer coffee to
tea.
(v) The manual scavenger is C’s brother

Who is human scarecrow?
 D
 B
 C
 E
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Statement: Vitamin E tablets improve the blood circulation and keep the complexion glowing. 
Assumptions : 
I. People like glowing complexion 
II. Complexion becomes dull in the absence of circulation
 If only assumption II is implicit
 If neither I nor II is implicit
 If only assumption I is implicit
 If both I and II are implicit
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If ROSE is coded as 6821, CHAIR as 73456, and PREACH as 961473, what will be the code for
SEARCH?
 214673
 216437
 123746
 217364
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Correct the error in the italicized sentence by choosing the most appropriate options. He said firmly
that he would rather starve to stealing to get what he needed.
 starve to rather stealing
 rather starving to stealing
 starve to rather steal
 rather starve than steal
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 1
 3
 4
 2
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If in a certain code, RIPPLE is coded as 613382 and LIFE is written as 8192. How is PILLER written
in that code?
 318286
 338816
 318826
 618826



Question No.55 4.00
Bookmark     

 

 

 

 



Question No.56 4.00
Bookmark     

 

 

 

 



Question No.57 4.00
Bookmark     

 

 

 

 



Question No.58 4.00
Bookmark     

 

 

 

 

Question No.59 4.00
Bookmark     

 

 

 

 



Question No.60 4.00
Bookmark     

 

 

 

 



Question No.61 4.00
Bookmark     

 

 

 

 



Question No.62 4.00
Bookmark     

 

 

 

 



Question No.63 4.00
Bookmark     

 

 

 

 

Question No.64 4.00
Bookmark     

12 men can complete a piece of work in 4 days, while 15 women can complete the same work in 4
days. 6 men start working on the job and after working for 2 days, all of them stopped working. How
many women should be put on the job to complete the remaining work, if it is to be completed in 3
days? 
 15
 10
 14
 13
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 10
 11
 8
 9
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During winter, the poor children_____around a makeshift fire to keep themselves warm.
 huddled
 elbowed
 grouped
 tucked
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In the following question, the first two words (given in italics) have a definite relationship. Choose
one word out of the given four alternatives which will fill the blank space and show the same
relationship with the third word as between the first two.

Denigrate is to Devalue as Upgrade is to ………?………….
 Praise
 Promote
 Debase
 Devalue
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Scarcely had I reached the railway station when the New Delhi Express took off.
The underlined words are
 conjunctions
 verbs
 pronouns
 adverbs
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Although there are ________ outbursts of gunfire, the evening news reported that the major rebellion
has been suppressed.

 bitter
 meagre
 heinous
 sporadic
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Study the following information carefully and answer the question below it:

Aasha, Bhuvnesh,Charan, Danesh, Ekta, Farhan, Ganesh and Himesh are sitting around a circle,
facing the centre. Aasha sits fourth to the right of Himesh while second to the left of Farhan. Charan is
not the neighbour of Farhan and Bhuvnesh. Danesh sits third to the right of Charan. Himesh never sits
next to Ganesh.

Who sits second to the right of Danesh?
 Charan
 Aasha
 Bhuvnesh
 Ekta
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Choose the synonym of the italicized word. Vanita bore the pain with great fortitude.
 defiance
 soreness
 indifference
 resilience
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Choose the best antonym of the italicized word. Hob’s flippancy makes it difficult to have a prolonged
conversation with him.
 pleasant
 reticence
 seriousness
 vanity 
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I sincerely ________the inconvenience caused to you because of my delay.
 regret about
 regret of
 regret on
 regret
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Statement: Difficult questions need diagram for solving. 
Assumptions: 
I. The students are not intelligent. 
II. Such questions cannot be solved.
 If only assumption II is implicit
 If only assumption I is implicit
 If neither I nor II is implicit
 If both I and II are implicit
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